MA104 – Differential Calculus

Lesson 45: Partial Derivatives I

_______________________________________________________________________________________________________________________
Basic Army Pay – Effective January 1, 2008

	
	Over 6
	Over 8
	Over 10
	Over 12
	Over 14
	Over 16
	Over 18
	Over 20

	O8
	9516.00
	9912.30
	10004.70
	10381.20
	10488.90
	10813.50
	11282.40
	11715.30

	O7
	8112.60
	8334.90
	8591.70
	8847.90
	9105.00
	9912.30
	10594.20
	10594.20

	O6
	6331.80
	6603.30
	6639.00
	6639.00
	7016.40
	7683.60
	8075.10
	8466.30

	O5
	5694.60
	5825.70
	6113.10
	6324.00
	6596.40
	7013.70
	7212.00
	7408.50

	O4
	5130.30
	5428.20
	5799.00
	6088.20
	6288.90
	6404.10
	6471.00
	6471.00

	O3
	4763.10
	5002.20
	5157.00
	5411.04
	5543.40
	5543.40
	5543.40
	5543.40

	O2
	4074.30
	4074.30
	4074.30
	4074.30
	4074.30
	4074.30
	4074.30
	4074.30

	O1
	3215.10
	3215.10
	3215.10
	3215.10
	3215.10
	3215.10
	3215.10
	3215.10


(Excerpt taken from http://www.dfas.mil/militarypay/militarypaytables.html) 
1.  What function are we associating with this table of information?  Be sure to define what the variables mean.

2.  What do 
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mean in this context?

3.  Notice that every value in the O2 row is $4074.30.  How can we translate this lack of change in pay to a mathematical statement?

4.  Estimate 
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.  What is the practical interpretation of the result?
5.  Estimate 
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.  What is the practical interpretation of the result?  What conclusions can you draw by comparing this result with the previous one?

6.  Estimate 
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.  What is the practical interpretation of the result?
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